PR BER AEEER SREE ZERE BEREHR
#HAR=ERE 90 316 293 187 91
. BYFER 55 309 287 176 46

RIBFEER BYEREFEH N
EHRXETER 50 437 415 91 51
REZH 150 506 466 314 158
RBFER & 345 1568 1461 768 346
XEZFER 350 1115 1050 870 328
E3]i-3=al 250 1077 988 769 257
BEFE 100 593 545 272 110
E S RREER 150 704 654 375 160
BE-THAUEE . 100 777 718 175 108
THAO—X
RE &t 1295 5834 5416 3229 1309
* EHEAR=E
E£ERER 100 197 188 187 93
XF 100 187 177 177 68
HEAKRE A5t 200 384 365 364 161
* RAE
FE-2R-BER

AR 7 7 6 5
RBFEH BYEREBZRE BYFEK =T4 5 5 3 3
BE-THAUER 9 9 5 4
RBFE &t - 21 21 14 12
XEZEE 33 33 30 30
EREER =T4% 12 12 12 12
B RREER 0 0 0 0
RE it - 66 66 56 54

FHb- PR - ER

BTERE ABEEFRER 3 3 3 3 2

HAIRFEH 8 4 4 4 4

RBFEHARR P—— BYMFER 8 2 2 2 2
BE-THAUFER 8 2 2 1 1

REFEK 8 1 0 0 0

REZHARE 5 35 12 11 10 9

N=FHER XNEFER 20 6 5 2 2

EEF AR ESFER 15 3 3 3 3
BEFHAEH BEFER 5 2 2 2 2
K=k &t 75 23 21 17 16
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